O#fR

R EFE O

./A\

/U N T 1)

V7 —RY AT AR &H

0 = A 7E

RAHEEXMABE=T H43&1=5

O —IVHRET—H4(2024F%)

OB 75 EE 2L 4

VSEBiEE 4 3

FEETGERE (1 H SHFfE %/ SE19%H) 37,400

B EEE S (1H Sk %/ ) F195H) 24,910

Y=YV E(X) 23.0%
XELRAR

£ 2 F R B | BRERS EEESRERN EAEeEeHeF

% @& R R

55 ARBREL B RIS

ERAhiREH

FEREFIRIER, T DA HIRIRE

wEMNEEEHA

IR W

®H B E H

#HE

IR, HEEHE

~HHEERE

FRE EXEH FEMERE

o | Sfp

% M m

OB IR
B Fa)T18E

EYRAAFIVEE
ITAXNVEE
BEE RIS &

OZDfeELEDOSNSEHH
BEIRITY 7 b= 7 (R ERBRAE & DREM AL HI A AT
HARITY 7 by =7 EFESE S OB E A EHN A




